ITEM #	ITEM DESCRIPTION	QTY	AIRGAS SOUTH	CRUMPTON WELDING	PAXTON/PATTERSON, LLC
	SIGNED QUOTE		YES	YES	YES
1	Radnor Large Blue 14" Shoulder Split Cowhide Cotton/Foam Lined Insulated Welders Gloves w/Reinforced, Wing Thumb, Welted Fingers and Kevlar Stitching. Part#RAD64057641 (or equal)	40 ea	\$4.83 X 40 EA = \$193.20 bid as specified / estimated ship time ARO - 12 days	\$7.50 X 40 EA = \$300.00 Tillman 1250 / estimated ship time ARO - in stock	\$9.60 X 40 EA = \$384.00 243072 Steiner 2519B / estimated ship time ARO - 1-2 Weeks
2	Radnor Medium 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054961 (or equal)	15 ea	\$12.78 X 15 EA = \$191.70 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 15 EA = \$213.75 Tillman 6230M / estimated ship time ARO - 4 days	\$17.99 X 15 EA = \$269.85 242102 Steiner 10301 / estimated ship time ARO - 1-2 Weeks
3	Radnor Large 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054962 (or equal)	15 ea	\$12.78 X 15 EA = \$191.70 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 15 EA = \$213.75 Tillman 6230L / estimated ship time ARO - 4 days	\$17.99 X 15 EA = \$269.85 242104 Steiner 10302 / estimated ship time ARO - 1-2 Weeks
4	Radnor X-Large 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054963 (or equal)	10 ea	\$12.78 X 10 EA = \$127.80 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 10 EA = \$142.50 Tillman 6230XL / estimated ship time ARO - 4 days	\$18.53 X 10 EA = \$185.30 242106 Steiner 10303 / estimated ship time ARO - 1-2 Weeks
5	Radnor Carbon Steel Curved Handle Scratch Brush 3x19 Rows. Part#RAD64000434 (or equal)	40 ea	\$1.14 X 40 EA = \$45.60 bid as specified / estimated ship time ARO - 12 days	\$1.05 X 40 EA = \$42.00 Anchor 388 / estimated ship time ARO - in stock	\$2.15 X 40 EA = \$86.00 422316 Weiler 25201/ estimated ship time ARO - 1-2 Weeks
6	Radnor Model S-20 13 Ounce Chipping Hammer with Cone and Chisel Head and 10" Coil Handle. Part#RAD64002020 (or equal)	40 ea	\$3.23 X 40 EA = \$129.20 bid as specified / estimated ship time ARO - 12 days	\$3.30 X 40 EA = \$132.00 Anchor CH-200 / estimated ship time ARO - 2 days	\$7.79 X 40 EA = \$311.60 242434 Lenco LH-1 / estimated ship time ARO - 1-2 Weeks
7	300 Rod Oven 120 Volt Q / Thermometer Phoenix Rod Oven. Part#PHX1200201 (or equal)	1 ea	\$1,195.02 X 1EA = \$1,195.02 bid as specified / estimated ship time ARO - 15 days	\$1,065.00 X 1EA = \$1,065.00 Phoenix 1200200 / estimated ship time ARO - 2 days	\$1,124.00 X 1EA = \$1,124.00 250610 / estimated ship time ARO - 2-3 Weeks
	Total Quote Price Items 1 thru 7 above FOB Destination, Freight Pre-Paid to: Choice High School & Tech Center 1976 Lewis Turner Blvd., Ft. Walton Beach, FL 32547 Attn: G. Arne / P. Henkes		\$2,074.22	\$2,109.00	\$2,630.60
1	Radnor 2X Bourbon Brown Import Leather Jacket with Snaps and Soapstone Pocket in Each Sleeve. Part#64055065 (or equal)	4 ea	\$50.77 X 4 EA = \$203.08 bid as specified / estimated ship time ARO - 12 days	\$40.60 X 4 EA = \$162.40 Anchor 101-Q-1-2XL / estimated ship time ARO - 2 days	N/B
2	Radnor Extra Large Bourbon Brown Import Leather Jacket with Snaps and Soapstone Pocket in Each Sleeve. Part#RAD64055064 (or equal)	4 ea	\$46.15 X 4 EA = \$184.60 bid as specified / estimated ship time ARO - 12 days	\$38.70 X 4 EA = \$154.80 Anchor 101-Q-1-XL / estimated ship time ARO - 2 days	\$70.56 X 4 EA = \$282.24 242044 Steiner 92153 / estimated ship time ARO - 1-2 Weeks
3	Radnor Large Bourbon Brown Import Leather Jacket with Snaps and Soapstone Pocket in Each Sleeve. Part#RAD64055063 (or equal)	4 ea	\$46.15 X 4 EA = \$184.60 bid as specified / estimated ship time ARO - 12 days	\$38.70 X 4 EA = \$154.80 Anchor 101-Q-1-L / estimated ship time ARO - 2 days	\$69.62 X 4 EA = \$278.48 242042 Steiner 92152/ estimated ship time ARO - 1-2 Weeks
4	Radnor Medium 30" Bourbon Brown Import Leather Jacket with Snaps and Soapstone Pocket in Each Sleeve. Part#RAD64055062 (or equal)	4 ea	\$46.15 X 4 EA = \$184.60 bid as specified / estimated ship time ARO - 12 days	\$38.70 X 4 EA = \$154.80 Anchor 101-Q-1-M / estimated ship time ARO - 2 days	\$66.33 X 4 EA = \$265.32 242040 Steiner 92151 / estimated ship time ARO - 1-2 Weeks
5	Radnor 2X 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054964 (or equal)	10 ea	\$14.07 X 10 EA = \$140.70 bid as specified / estimated ship time ARO - 12 days	\$15.65 X 10 EA = \$156.50 Tillman 6230 2X / estimated ship time ARO - 4 days	N/B

ITEM			AIRGAS SOUTH	CRUMPTON WELDING	PAXTON/PATTERSON, LLC
6	ITEM DESCRIPTION Radnor X-Large 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054963 (or equal)	QTY 10 ea	\$12.78 X 10 EA = \$127.80 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 10 EA = \$142.50 Tillman 6230XL / estimated ship time ARO - 4 days	\$18.53 X 10 EA = \$185.30 242106 Steiner 10302 / estimated ship time ARO - 1-2 Weeks
7	Radnor Medium 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054961 (or equal)	10 ea	\$12.78 X 10 EA = \$127.80 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 10 EA = \$142.50 Tillman 6230M / estimated ship time ARO - 4 days	\$17.99 X 10 EA = \$179.90 242102 Steiner 10301 / estimated ship time ARO - 1-2 Weeks
8	Radnor Large 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054962 (or equal)	10 ea	\$12.78 X 10 EA = \$127.80 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 10 EA = \$142.50 Tillman 6230L / estimated ship time ARO - 4 days	\$17.99 X 10 EA = \$179.90 242104 Steiner 10302/ estimated ship time ARO - 1-2 Weeks
9	Radnor Large Blue 14" Shoulder Split Cowhide Cotton/Foam Lined Insulated Welders Gloves w/Reinforced, Wing Thumb, Welted Fingers and Kevlar Stitching. Part#RAD64057641 (or equal)	50 ea	\$4.83 X 50 EA = \$241.50 bid as specified / estimated ship time ARO - 12 days	\$7.50 X 50 EA = \$375.00 Tillman 1250 / estimated ship time ARO - 4days	\$9.60 X 50 EA = \$480.00 243072 Steiner 2519B / estimated ship time ARO - 1-2 Weeks
10	Radnor Black 24S Fixed Front Welding Helmet with 2"X4 1/4" Single Shade 10 Auto Darkening Lens Part# 64005100 (or equal)	5 ea	\$81.14 X 5 EA = \$405.70 bid as specified / estimated ship time ARO - 12 days	\$72.50 X 5 EA = \$362.50 Weidcote KV Hood / estimated ship time ARO - In stock	\$194.37 X 5 EA = \$971.85 240026 Jackson 138-0744-0665 / estimated ship time ARO - 1-2 Weeks
11	3M Virtua V4 Safety Glasses with Black and Gray Frame and Clear Polycarbonate Anti- Scratch Hardcoat Lens. Part# CAS11670-00000 (or equal)	100 ea	\$1.24 X 100 EA = \$124.00 bid as specified / estimated ship time ARO - 12 days	\$1.65 X 100 EA = \$165.00 bid as specified / estimated ship time ARO - 4 days	N/B
12	3M OX Safety Glasses with Black Frame and Clear Polycarbonate Lens Part# CAS12159-00000 (or equal)	20 ea	\$1.42 X 20 EA = \$28.40 bid as specified / estimated ship time ARO - 12 days	\$1.92 X 20 EA = \$38.40 bid as specified / estimated ship time ARO - 4 days	\$1.28 X 20 EA = \$25.60 342404 Sellstrom 76301 / estimated ship time ARO - 1-2 Weeks
13	1/8" E6010 Radnor 6010 Carbon Steel Electrode 50# Hermetically Sealed Can. Part# RAD64001020 (or equal)	7 ea - 350lbs	\$1.74 X 350lbs = \$609.00 bid as specified / estimated ship time ARO - 12 days	\$2.29 X 350lbs = \$801.50 Lincoln EDO 10203/ estimated ship time ARO - In stock	\$198.26 X 7ea = \$1,387.82 242150 Lincoln 5P/ estimated ship time ARO - 1-2 Weeks
14	1/8" E7018 Radnor 7018 Carbon Steel Electrode 50# Hermetically Sealed Can. Part# 64001116 (or equal)	6 ea - 300lbs	\$1.57 X 300lbs = \$471.00 bid as specified / estimated ship time ARO - 12 days	\$1.73 X 300lbs = \$519.00 ESAB AR255011819 / estimated ship time ARO - In stock	\$184.40 X 6 ea = \$1,106.40 242178 Lincoln CH-70 / estimated ship time ARO - 1-2 Weeks
15	3/32" E6010 Lincoln Fleetweld 5P Carbon Steel Electrode 50# Easy Open Hermetically Sealed Can. Part# Lined 010211 (or equal)	5 ea - 250lbs	\$2.44 X 250lbs = \$610.00 bid as specified / estimated ship time ARO - 12 days	\$2.53 X 250lbs = \$632.50 Lincoln EDO 10211 / estimated ship time ARO - In stock	\$195.65 X 5 ea = \$978.25 TD / estimated ship time ARO - NO RESPONSE
16	3/32" E7018 Radnor 7018 Carbon Steel Electrode 50# Hermetically Sealed Can. Part# RAD64001114 (or equal)	4 ea - 200lbs	\$1.60 X 200lbs = \$320.00 bid as specified / estimated ship time ARO - 12 days	\$1.92 X 200lbs = \$384.00 ESAB AR255013310 / estimated ship time ARO - In stock	\$176.18 X 4 ea = \$704.72 TD / estimated ship time ARO - NO RESPONSE
17	Fume Extraction System 5000CFM 5 HP All Ductwork Part# SQBA, American coolair 36 (or equal)	1 ea	\$7,518.56 X 1EA = \$7,518.56 bid as specified / estimated ship time ARO - 4 weeks	N/B	N/B
	Total Quote Price Items 1 thru 17 above FOB Destination, Freight Pre-Paid to: Crestview High School 1250 North Ferdon Blvd; Crestview, FL 32536 - Attn: Mike Eglin/Welding		\$11,609.14	\$4,488.70	\$7,025.78

ITEM			AIRGAS SOUTH	CRUMPTON WELDING	PAXTON/PATTERSON, LLC	
#	ITEM DESCRIPTION	QTY	AIRGAS SOUTH	CROMPTON WELDING	PAXTON/PATTERSON, LLC	
1	1/8" E6010 Lincoln Fleetweld 5P + Carbon Steel Electrode 50# Easy Open Hermetically Sealed Can. Part# Lined 010278 (or equal)	3 ea - 150lbs	\$2.28 X 150lbs = \$342.00 bid as specified / estimated ship time ARO - 12 days	\$2.39 X 150lbs = \$358.50 Lincoln EDO 10278/ estimated ship time ARO - In stock	\$198.26 X 3 ea = \$594.78 242150/ estimated ship time ARO - 1-2 Weeks	
2	1/8" E7018 Hobart 418 Carbon Steel Electrode 50# Hermetically Sealed Container. Part# Hobs 119944035 (or equal)	3 ea - 150lbs	\$1.63 X 150lbs = \$244.50 bid as specified / estimated ship time ARO - 12 days	\$1.73 X 150lbs = \$259.50 ESAB AR255011819 / estimated ship time ARO - In stock	\$184.40X 3 ea = \$553.20 242178 Lincoln LH-70 / estimated ship time ARO - 1-2 Weeks	
3	3/32" E7018 Hobart 418 Carbon Steel Electrode 50# Hermetically Sealed Container. Part# Hobs 119932-035 (or equal)	3 ea - 150lbs	\$1.72 X 150lbs = \$258.00 bid as specified / estimated ship time ARO - 12 days	\$1.92 X 150lbs = \$288.00 ESAB AR255013310 / estimated ship time ARO - In stock	\$176.18 X 3 ea = \$528.54 TD Lincoln Fleetweld / estimated ship time ARO - NO RESPONSE	
	Total Quote Price Items 1 thru 3 above FOB Destination, Freight Pre-Paid to: Laurel Hill School 8078 Fourth St., Laurel Hill, FL 32567 - Attn: Jerry Gregory/Welding		\$844.50	\$906.00	\$1,676.52	
1	Oxygen Industrial Size 200 CGA 540 Part# OX200 (or equal)	3 ea	\$7.47 X 3 EA = \$22.41 bid as specified / estimated ship time ARO - 5 days	N/B	N/B	
2	Industrial Grade Acetylene, Size 4 Cylinder, CGA 510 Part# AC4 (or equal)	3 ea	\$27.95 X 3 EA = \$83.85 bid as specified / estimated ship time ARO - 5 days	N/B	N/B	
3	Argon 75 Cd 25 Size 300 CGA 580 Part# ARCD25300 (or equal)	3 ea	\$48.12 X 3 EA = \$144.36 bid as specified / estimated ship time ARO - 5 days	N/B	N/B	
4	Industrial Grade Argon, Size 300 Cylinder Part# AR 300 (or equal)	3 ea	\$32.17 X 3 EA = \$96.51 bid as specified / estimated ship time ARO - 5 days	N/B	N/B	
5	Tillman Large Pearl Gray Top Grain Leather Fleece Lined Cold Weather Gloves with Keystone Thumb and Double Stitched Forefinger. Part# TIL1425L (or equal)	10 ea	\$5.83 X 10 EA = \$58.30 bid as specified / estimated ship time ARO - 12 days	\$6.40 X 10 EA = \$64.00 Tillman 1425 L / estimated ship time ARO - 4 days	N/B	
6	1/8" E6010 Radnor 6010 Carbon Steel Electrode 50# Hermetically Sealed Can. Part# RAD64001020 (or equal)	4 ea - 200lbs	\$1.74 X 200lbs = \$348.00 bid as specified / estimated ship time ARO - 12 days	\$2.29 X 200lbs = \$458.00 Lincoln EDO 10203 / estimated ship time ARO - In stock	\$198.26 X 4 ea = \$793.04 242150/ estimated ship time ARO - 1-2 Weeks	
7	1/8" E7018 Radnor 7018 Carbon Steel Electrode 50# Hermetically Sealed Can. Part# 64001116 (or equal)	4 ea - 200lbs	\$1.57 X 200lbs = \$314.00 bid as specified / estimated ship time ARO - 12 days	\$1.73 X 200lbs = \$346.00 ESAB AR255011819 / estimated ship time ARO - In stock	\$184.40 X 4 ea = \$737.60 242178 Lincoln LH-70 / estimated ship time ARO - 1-2 Weeks	
8	Radnor Large Pearl Gray 14" Should Split Cowhide Cotton Sock Lined Welders Gloves with Wing Thumb and Fully Welted Fingers (Carded) Part# RAD64057601 (or equal)	50 ea	\$3.47 X 50 EA = \$173.50 bid as specified / estimated ship time ARO - 12 days	\$3.85 X 50 EA = \$192.50 Tillman 1000L / estimated ship time ARO - 4 days	\$5.21 X 50 EA = \$260.50 243068 Steiner 02209/ estimated ship time ARO - 1-2 Weeks	
9	Radnor Small 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part# RAD64054960 (or equal)	2 ea	\$12.78 X 2 EA = \$25.56 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 2 EA = \$28.50 Tillman 6230S / estimated ship time ARO - 4 days	\$17.99 X 2 EA = \$35.98 242100 Steiner 10300 / estimated ship time ARO - 1-2 Weeks	
10	Radnor Medium 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054961 (or equal)	4 ea	\$12.78 X 4 EA = \$51.12 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 4 EA = \$57.00 Tillman 6230M / estimated ship time ARO - 4 days	\$17.99 X 4 EA = \$71.96 242102 Steiner 10301/ estimated ship time ARO - 1-2 Weeks	
11	Radnor Large 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054962 (or equal)	4 ea	\$12.78 X 4 EA = \$51.12 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 4 EA = \$57.00 Tillman 6230L / estimated ship time ARO - 4 days	\$17.99 X 4 EA = \$71.96 242104 Steiner 10302 / estimated ship time ARO - 1-2 Weeks	

ITEM #	ITEM DECODIDATION	OT1/	AIRGAS SOUTH	CRUMPTON WELDING	PAXTON/PATTERSON, LLC
12	ITEM DESCRIPTION Radnor X-Large 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054963 (or equal)	QTY 4 ea	\$12.78 X 4 EA = \$51.12 bid as specified / estimated ship time ARO - 12 days	\$14.25 X 4 EA = \$57.00 Tillman 6230XL / estimated ship time ARO - 4 days	\$18.53 X 4 EA = \$74.12 242106 Steiner 10303 / estimated ship time ARO - 1-2 Weeks
13	Radnor 2X 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part#RAD64054964 (or equal)	2 ea	\$14.07 X 2 EA = \$28.14 bid as specified / estimated ship time ARO - 12 days	\$15.65 X 2 EA = \$31.30 Tillman 62302X / estimated ship time ARO - 4 days	N/B
14	Radnor 3X 30" Green 9 Ounce Westex Proban FR7A Cotton Flame Retardant Jacket with Snap Front Closure. Part# RAD64054965 (or equal)	2 ea	\$15.43 X 2 EA = \$30.86 bid as specified / estimated ship time ARO - 12 days	\$17.10 X 2 EA = \$34.20 Tillman 62303X / estimated ship time ARO - 4 days	N/B
15	Radnor Medium Bourbon Brown Import Leather Cape Sleeve with Soapstone Pocket in Each Sleeve. Part# RAD64055071 (or equal)	4 ea	\$27.20 X 4 EA = \$108.80 bid as specified / estimated ship time ARO - 12 days	\$38.70 X 4 EA = \$154.80 Anchor 101-Q-1-M / estimated ship time ARO - 2 days	N/B
16	Radnor Small Bourbon Brown Import Leather Cape Sleeve with Soapstone Pocket in Each Sleeve. Part# RAD64055070 (or equal)	2 ea	\$37.20 X 2 EA = \$74.40 bid as specified / estimated ship time ARO - 12 days	\$38.70 X 2 EA = \$77.40 Anchor 101-Q-1\$ / estimated ship time ARO - 2 days	N/B
17	Plasma Arc Parts Kit. Part# TDC5-6204 (or equal)	2 ea	\$79.03 X 2 EA = \$158.06 bid as specified / estimated ship time ARO - 12 days	\$90.95 X 2 EA = \$181.90 TD 5-6204 / estimated ship time ARO - 5 days	N/B
	Total Quote Price Items 1 thru 17 above FOB Destination, Freight Pre-Paid to: Baker School 1369 14th Street; Baker, FL 32531 - Attn: Bill Nester/Welding		\$1,820.11	\$1,739.60	\$2,045.16
			all items bid	no bid items 17, 1, 2, 3, and 4	no bid items 1,5,11,17,1,2,3,4,5,13,14,15,16,17
			\$16,347.97	\$9,243.30	\$13,378.06

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any are hereby rejected as late.

BIDDERS WHO BID "NO BID": NONE NON-RESPONSIVE BIDDERS: NONE

RECOMMENDATION FOR AWARD

Committee: <u>Perry Henkes</u>

Mary Beth Jackson

Nancy Takacs

Recommendation for Award: Committee recommends award to the lowest responsible and responsive bidder <u>Airgas South</u> in the amount of <u>\$16,347.97</u>.

FUNDING

Fund	Function	Object	Center	<u>Project</u>	<u>Amount</u>
4201	5900	510	9830	2407	\$879.20
4201	5900	641	9830	2407	\$1,195.02
4201	5300	510	9830	2422	\$6,755.19
4201	5300	641	9830	2422	\$7,518.56

[&]quot;Failure to file a protest within the time prescribed in Florida Statutes 120.57, Florida Statutes, shall constitute a waiver of proceedings under Chapter 120, Florida Statutes."

POSTED: 11/17/11 10:30AM CT